
Will and Sam are building towers. Bill’s tower is 20cm tall. Harry’s 

tower is 16cm tall. Whose tower is the tallest? 

 

A slug is 8cm long. A worm is 14cm long. Which is the longest? 

 

Katie is 90cm tall. Her brother is 40cm tall. Who is the tallest? 

 

Billy the penguin is 100cm tall. Perry the penguin is 75cm tall. Who is 

the tallest? 

 

Daffodils grow to be 40cm tall. Roses grow to be 55cm tall. Which 

grow to be the tallest? 

 

Rosie is 80cm tall. Her mum is 120cm tall. Who is the tallest? 

 

Oscar the snake is 110cm long while Lizzie the snake is 90cm long. 

Who is the longest? 

 

Lisa and Amy have a pile of books. Lisa’s pile is 16cm tall. Amy’s pile 

is 22cm tall. Whose pile is the tallest? 

 

Tim’s feet are 13cm long. Vicky’s feet are 19cm long. Whose feet are 

the longest? 

 

Bob’s pencil is 27 cm long. Jake’s pencil is 16cm long. Whose pencil is 

the longest? 



Fred is collecting string. He finds 7cm under his bed and 8cm in the 

cupboard. How long is the string all together? 

 

A short Lego brick is 8cm. A long Lego brick is 4 cm. How long will 

they be if we measure them together? 

 

Chloe’s chocolate bar is 12cm long. She eats 2cm of chocolate. How 

much is left? 

 

Anne’s flower is 18cm tall. It grows 5cm. How long is it now? 

 

Jenny has a piece of ribbon. It is 20cm long. She cuts off 7cm. How 

much is left? 

 

Alfie’s baby sister is 50cm tall. She grows 10cm. How tall is she now? 

 

A straw is 9cm long. If we fasten 2 together how long would it be? 

 

Devon has a candle. It is 7cm tall. When he lights the candle 3cm 

melt. How much is left? 

 

A chocolate bar is 20cm long. Claire wants to share her chocolate 

with her friend. How much chocolate will each person get? 

 

Megan has 4 books. Each book is 2cm tall. She puts them in a pile. 

How tall is the pile? 



 

Robert is building a tower. Each block is 3cm tall. He uses 10 blocks. 

How tall is his tower? 

 

A paperclip is 4cm long. Sue makes a chain of 5 paperclips. How long 

is the chain? 

 

Boxes are 10cm long. A shelf is 60cm long. How many boxes will fit 

on the shelf? 

 


